M. Higgins
Unit 1
	UNIT 1


Question 1 in Part 1


People in Business


This should be one of your 4 Long Questions






1. Stakeholders and Relationships



2. Legislation
· Sale of Goods and Supply of Services Act 1980
· Consumer Protection Act 2007
· Industrial Relations Act 1990
· Employment Equality Act 1998 - 2008
· Unfair Dismissals Act 1977 – 2007
· Data Protection Act 1988 and 2003
· Companies Act 1963 – 1990



3. Law of Contract


The questions are so predictable – you need to familiarise yourself with all the past exam questions in unit 1.  All are enclosed in the handout. 








	STAKEHOLDERS




Stakeholders – different groups of people who are affected by how a business is run.  These include entrepreneurs, investors, employees, employers, suppliers, producers, consumers, government and society and interest groups. 

1. Entrepreneur – person who takes the initiative and personal risk in starting a business to achieve some personal objective e.g. Richard Branson
2. Investor – person who provides a business with finance e.g. banks/private investors (friend)/Government (grant)
3. Employees – people recruited by employers to work in the business in return for a fee called wages/salaries
4. Employers – people/organisations who recruit staff to assist in the production of goods/services
5. Suppliers – business who supple the raw materials and services needed to keep the business going e.g. Musgrave/solicitors/insurance companies
6. Producers  - providers or manufacturers of goods/services e.g. Jacobs biscuits
7. Consumers – people who buy goods/services for personal use
8. Government – the body that regulates how businesses operate
9. Society – local community where business is located and the wider society both nationally and globally (noise, air, water, litter, traffic)
10. Interest Groups – representative organisations who try to achieve results by applying pressure to other organisations such as the government or a particular business
Examples:

IBEC 	__________________________________________________________________
SFA 	__________________________________________________________________
ICTU	__________________________________________________________________
CIF 		__________________________________________________________________
IFA		__________________________________________________________________
CAI		__________________________________________________________________
RGDATA	__________________________________________________________________
ISME	__________________________________________________________________
IMI		__________________________________________________________________
How interest groups achieve their aims:
1. Negotiate
2. Generate negative publicity
3. Boycotting products
4. Legal action
5.  (
Society
) (
Interest Groups
)Lobbying ministers
6.  (
Government
)Petitions
7.  (
Entrepreneurs
)Marches
 (
Employees
) (
Suppliers
) (
Consumers
) (
Producers
) (
Employers
) (
Investors
) (
Stakeholders
)






	
RELATIONSHIPS



Relationships in business are dynamic (i.e. ever changing).

Relationships change and can be cooperative and competitive.

To co-operate means to act in a manner, which is of mutual benefit to all concerned (win/win).

To compete means to pursue a different aim to another (win/lose).

Examples of co-operative relationships:

1. Fair wages, good working conditions, share in the profits, empowerment, training e.g. ________________________
2. Deliver on time, give discounts e.g. ____________________________________
3. Give finance, fair interest rates, correct bank charges e.g. _________________________________
4. Taxes paid on time, comply with laws e.g. ____________________________
5. High quality goods, low prices, good after sales service e.g. _______________________________
6. Pay taxes, obey laws e.g. _______________________________

Examples of competitive relationships:

1. Low wages, poor working conditions, no staff involvement
2. No credit, late delivery
3. High interest rates, withhold payments
4. Evade taxes, not complying with laws
5. Low quality, high prices, misleading advertising

Benefits of co-operation:

1. Less time wasted
2. Better prices and terms
3. Good relations
4. Easier to conduct business

Results of co-operation

1. Provision of high quality goods/services
2. Promotion or new jobs created
3. Rivalry
4. Closure of inefficient firms

Stakeholders change their roles in business:

1. Employees become consumers, investors, members of interest groups
2. Entrepreneurs become consumers e.g. bank loans
3. Employees may become managers and therefore, become employers
4. Employers, employees, consumers, suppliers may become entrepreneurs if they have innovative business ideas and finance


	Stakeholder and Relationship Exam Questions

Question 1 - Section 3 – Part 1 




	Year 
	Questions
	Marks

	2011
	Outline, using examples, the relationship that can exist between ‘Investors’ and ‘Entrepreneurs’ in business. 
	15

	
	Describe how conflict between an employer and an employee could be resolved in a non – legislative manner. 
	15

	2009
	Outline, using an example, the role of interest groups in the business world. 
	10

	
	Discuss how consumers may benefit from the existence of a competitive relationship between producers. 
	15

	2008
	Describe a competitive relationship and a co-operative relationship between two producers in the same line of business. Use appropriate examples to support your answer. 
	15

	2007
	Identify two parties in business and describe a competitive relationship between them. 
	10 (SQ)

	2006
	‘The relationship between an enterprise and its stakeholders may be competitive or co-operative’.  Discuss this statement, with appropriate examples. 
	15

	2005
	Describe important aspects of the relationship between producers and consumers in business. 
	15

	2004
	Describe a co-operative and a competitive relationship that would typically exist between Mecca (company) and other business organisations.
	20

	2003
	Illustrate the role of interest groups in business
	10

	2002
	Outline the role of any two parties involved in business
	10

	
	Describe, using examples, one co-operative and one competitive relationship that may exist either between or within organisations. 
	20

	2001
	Contrast the relationship that exists between entrepreneurs and investors in a business enterprise. 
	15





	

To answer any question on relationships between stakeholders, follow this sequence:

1. Define both stakeholders first
2. State that relationships are dynamic i.e. ever changing
3. State that relationships can be co - operative and competitive
4. Define co-operative and competitive
5. Finally, give examples of each type of relationship


	
RESOLVING CONFLICT




Non – Legislative and Legislative Methods of Solving Disputes
Conflict occurs when the interests of different people are in disagreement.  This results in someone wanting something that is in conflict with the wishes of another.  Conflict can occur internally between managers, investors, employees or externally with customers, suppliers, competitors, government or society.  A business can avoid conflict by respecting stakeholders.  The key to resolving disputes is:
· Discussion
· Communication
· Consultation
· Negotiation

Conflict can be resolved either in a legislative (i.e. the law) or non – legislative way (HR Manager)

	Conflict Resolution in Marketplace (Consumer Conflict)



Non – legislative
1. Approach shop
2. Letter
3. Consult Consumer Association of Ireland or National Consumer Agency
4. Contact Trade Associations e.g. RGDATA
5. Ombudsman, Ombudsman for Credit Institutions, Ombudsman for Insurance

Legislative
1. Sale of Goods and Supply of Services Act 1980
2. Small Claims Procedure
3. Consumer Protection Act 2007
4. Law of Contract
5. Data Protection Act 1988

	Conflict Resolution in the Workplace (Industrial Conflict)



Non- legislative
1. Negotiate a solution – direct negotiation between employers and employees and maybe shop steward
2. Conciliation – agreed third party e.g. shop steward, suggests a solution 
3. Mediation – agreed mediator (provided by LRC) intervenes and makes suggestions (not binding)
4. Arbitration – independent third party (arbitrator) appointed to resolve (binding)

Legislative
1. Industrial Relations Act 1990
2. Employment Equality Act 1998 - 2008
3. [bookmark: _GoBack]Unfair Dismissals Act 1977 - 2007

Benefits of not using the law
1. Conflicts resolved much more quickly
2. Cheaper
3. Better atmosphere
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